7000 GeV pp Z+Jet
';‘ L L B N L L A B RO BN B 1
(D) 104 .
o Filtered Jet Mass(CA(1.2), 150<p <220, |y|<2.5)
—
£ 10° =
o B
/6 ,/5‘ i-_-—ﬁ“‘ﬁ“tﬁg
o lgw Rt
E NN:Q‘\::
o it:::g\
810_2 T
= B
ks
107
10°°
107°
10-10 m CMS
--O-- Herwig++ 2.7.1 default -
1 --f4-- Herwig 7.1.0 default
10°
-14
N T O U S S S A | =5
2 & 5 -
o .B--g i i
% - e ,@—'—*@"g RN 5 ]
= - B | ]
2 | /, \®\\ \\\ : ]
+— 1 ,' - o - :
/ N JECTAN .
% — /}@ \\ \ \‘\ q,:l —]
- v \G\ : \\q’) —
05 s |
Loy .
0 50 100 150

Rivet 3.1.0, = 7.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


